AT 4 v a UER

RKEBEE Wi % oy IEHE O BAR E-NE KE
ERE Bl PN &R (C) 1% (%) JELIF] HE
2023/11/12 09:30 |2 11.5 87.0 EE[A B

10:00 2 12.0 70. 0 Wit

11:00 2 14.0 67.0 ik B

12:00 2 15.5 58. 0 74 itk

1/6




2023 MpRtH = BB B & [23220096]
MPET —RY A= R196951%5 27T A [222010]
2023/11/12 ~ 2023/11/12

Ty 7 oH R A S K

L@ E fE B =
A H 1fiz ol 3 4 51 B T 5
LA 12 59 £-3000m AR Hi—HRE) 9:06.99 | ME MEA(3) 9:09.39[ "B ZEFH(2) 9:22.75| )11 & 9:28.33[FA K 9:30.52[F . EHNG) 9:32.51 [ FFRG) 9:33.04[5 5 EHH(G) 9:40.89
2 AR B g TR B g1 BRI B S B S A — AW | B S SR B S F R E HI-AC—H)
1A 128 #75000m B RAQ)  15T.56)8E RX 15:59.26 (26 M) 16:13.07[WEF akfa3) 16:19.02[ KM AR 16:23.06[ 117 T (1) 16:27.16/7E ZeM(2)  16:30.60| B Q) 16:32.35
B E % A1ARC e - FEER T HHAL T As A T - BATE TR
LA 12 1 7-3000m L W(3) 10:19.32(F %% H(2) 10:34.68[ L H3£(2) 10:41.65(#8 HZ=(2) 10:44.38| il ABZE(1) 10:49.20| )\ E () 10:56.43 |0k At (1) 11:01.39[4R)11 Q) 11:05.96
: B H-AC ] R RP L Uil B T - BB TR B -2k PR Caril
114128 £5000m BPFT () 18:27. 71| il 5&(2) 18:28.28[ KRt B (1) 19:A1.08[FF EAI (1) 19:50.16|F I A(2) 21:16.13

A S M A L )

A SR SIE L T

T - bR

B J0 B NREER

JLE



B +3000m

wHEHEA E-NE KE
FLEREAL BT K=

11H12H 00:00 #4hV=%

AAAV=%  2%H
iR 240
JIEL ORD  Jvn'— K44 B Fogk aivb JIE(. ORD _Fvn' = K4 EIE] Fogk aivb
1 11 2967 faH SEA() % f-jufEé 9:41.96 1 3 717 #k #H—ER(3) = wm-mmmws 9:06. 99
2 3 702 1ERE pEE(1) = m-mmmwin 9:42.52 2 7T 713 JNjEE MEAN() = me-smmmms 9:09.39
31 692 A MIKEIQ) = m-swmwms 9:43.73 312 703 FEH OEH(Q) = w-sheis 9:22.75
4 2 698 A FEE() = om-smmes 9:43.81 4 14 7093 F)I EE B oa- AL 9:28.33
5 10 699 ‘=IF JERE(1)  ® w-smmes 10013, 20 5 2 7176 HA K 9:30. 52
6 4 9867 BJE WA(Q2) = - EME 10:18.14 6 4 716 FRE OIKMEOB) = owm-omm 9:32.51
7 6 10569 J} ==/4(2) T fkiEET 10:22. 06 7 10 712 EEH OSFK(G) = omesmmwism 9:33.04
8 8 836 [k (1) £ - —EEE 10:25. 77 8 17 1350 [BH amAR(3) & sm-ac—ml  9:40.89
9 7 10561 #EH BOKEA(2) = - kXt 10:26. 62 9 8 9356 GEE it 2o bR 9:42. 49
10 9 840 MW #2) # - —EmE 10:28.59 10 15 10267 fEM  BE(1) 2 - 2mER 9:45. 66
11 17 4094 &)1 Pz (1) % - &+k$ 10:48.03 11 19 714 AL KFEE@) = m-smmeE 10016, 71
12 16 695 ik HEJL(1) = m-memas 10:51.30 12 16 459 JnpE  KREI(Q) = m-—#wms 10:31.54
13 14 5175 #H X)) & - s 10:54. 62 13 21 2993 RAMR =#HAQ) = m-2ZmE 10:40.94
14 5 9932 #5A BUAN(1)  ® - ERE 11:05. 68 14 20 2851 ‘=M IWIF() = m-4ME 10:52.39
15 18 3551 HE BEE(Q) = &-ELh 11:12.93 1 7262 Al flF S - RREAC DNS
16 15 5181 K ®wK(1) = - s 11:26.40 5 718 [l k(B3 B s Emmam DNS
126143 FHfa M) = - KR DNS 6 1285 [l KZ2(3) = - Aige DNS
13 5172 Fgk AZAEQA) B - E DNS 9 2614 KHE 1) = G- B DNS
19 694 Hk EfEAQ) = ow-smamE DNS 11 708 Al {EE@Q) = m =weE DNS
13 2849 [ /A1) = w4 DNS
18 701 AfH  ERF(Q) = e mmmes DNS

N WA A

JIEAT Fyn - K4 iG] FLfk AV )
1 T17T W #H—ER(3) = #-sxgos  9:06. 99
2 713 fNE MEAN(3) = m-mmmws 9:09. 39
3 703 SEEF ZEEHQ) = w-smwmolm 9:22.75
4 7093 )1l BE &% 9:28.33
5 7176 HAR K 9:30. 52
6 716 R &G = 9:32.51
7 712 B K@) = m-smems 9:33.04
8 1350 fE3E EEB(3) ® m-ac—®J  9:40.89

JL{5l DNS:R15



5B +5000m

wHEHEA E-NE KE
FLEREAL BT K=

11H12H 00:00 #4hV=%

PARV-2 4%H

148 2#8 ) ]

JIEfiz ORD v — K4 e FLg% aAvh NEAZ ORD v — KA e Eodk apvh
1 14 2903 £ HHE () s RATFH 17:04. 27 1 5 2580 [U@E KIv E e smirnsE 16041, 45

12 696 HMH A1)
2 2908 EAF kA (D)
3 464 {FHiE EER(2)

9 - ZmEvE 17:04. 35
3

4

5 11 954 HA FEQ)

6

7

8

& BAFRH 17:17.76 1 2838 1EjE
- —wmd 17:38. 10 19 700 ZR)I R (1)

2 12 953 7P AKRTE(1)
3
4

e —meE 17:59. 68 5 4 2453 JEK 1B
s !
7
8

G- —EE 16:58.06
- KRS 17:04., 27
- EamEE 17:10. 95
meLarczEE  17:12.05

M- R 17:13. 24
e e 17:13. 68

e —EwE 17015, 77

L

10 693 Wl K¥FEQ)
16 8819 #& HIK(1)
4 2736 fEx Ak PE(2)

e mEReE 18112, 34 11 2811 gH — (1)
- mEE 18125, 78 8 837 Jky (D)
M- RATA 18:28. 88 20 959 M\fE HE (1)

MM R M MR B MM MR OB MR M M oM MW OMZ

9 1 198 A KR (2) - ik 18:48. 34 9 2 4879 AL HEHR (2) - e 17:24. 42
10 9 2901 FHilh KFn(1) f- BATE 18:49. 88 10 7 9941 A #EL1) 1 IR 17:36. 79
11 7202 W HhAE(2) a0 Lk 18:51. 32 11 9 9943 KPP &5 (1) - kR 17:37. 68
12 6 2418 JIHF  HE—BA(2) - R 18:59. 87 12 10 2584 MM FEE wesETanE 17:38. 77
13 5 461 MA FizH#(©2) e T 19:06. 61 13 22 956 & #AKW fe—EE 17:47.02
14 15 2902 #ifE AR (1) m- RATA 19:21.76 14 6 9942 Mg H—HI(1) A EEE 17:50. 02
8 2910 L& FAKQ) 1 RAT DNS 15 18 1110 Jnj#E S e 4R 18:17. 43
13 7087 EwMaks 5N (1) g+ TR DNS 16 21 9928 A Eg (1) - ERFE 18:44. 67
17 7403 FH HLEE (D) A1+ TR DNS 17 15 6144 #%E  HE (1) sn - KFH 18145, 25

18 13 9870 A Mt (2) % - EifE 18157, 53

W MW N B ) M MW P M M M W

3 5182 |[UMH  PFERK(1) RN DNS
14 9934 [uA CRFEQ) S+ [ DNS
16 7533 BT  KIE (1) 0 - B EO DNS
17 7534 =f&h EREA(D 1+ BHEE S EO DNS
3%H 4% )
JIEE ORD  Jvn'— K44 Bz FLgk aAivb JIE(. ORD _Fvn' = K4 EE] FLEk aAvb
1 9 2810 2@ f@f{h(1) = #-JME& 16:13.07 1 460 SFH AAK(Q2) = m-@mEm 15:57.56

6871 HEF FFK
2394 kM Fn%E
7418 il KE
9693 1B Ak

4
¢ - gEEn 16019, 02 3
5
7
1
8 5929 MK EAM4)
0
9
6
1
2

= e ABIEE 16:27. 16
16 2733 JNfE  ERHQ)  ® m-EATS 16:30. 69

2 #-1.ARC 15:59.26
3

4

5 4 9654 JEdE WA (2) A - kR 16:32. 38

6

7

8

e Zinaall 16:23. 66
e #EmEACc 16:33. 34
- kel 16034, 33
- SHETY 16136, 66
H - AR 16:49. 45
Jne Eoabel 17:10. 73
H - AR 18:06. 39

21 8798 I FfH (3)
2 7478 ums A (1)

—

bl
ol
B
e
18 6142 EFEE (1) = - miE 16:34. 84
39909 MK PEIE(1) B m-EERAE 16:40.69
%
B
%
=
%
B

—

1181 Jl  HaK (4)
9327 AR i
5619 HfH % (2)

5 2809 75 GLE (1) # - JREs 16:42.04
9 7 6929 AT Bz (2) = wm-kmeEs 16:50. 58

© 00~ O Uk W

WA ONH RHOMA MR MR M W M MR

10 14 7079 EHh  FLER M- e 16:51. 16 884 KW FEE (1) 1 - B R DNS
11 22 431 =H #£3©Q) - —HE 16:54. 82 8832 Ffa FENX() S - B DNS

12 6 9653 KM (2) Z - REE 16:58. 26

13 19 129 K¥ FEX(Q) = m-Bsmik 17:01.45

14 1 7103 K& %% 2 m-smEiac 17:09. 26

15 11 6074 #FH BEEQ) = m-wzmea 17:10.95

16 20 9944 $iA MR (1)  ® - pREEm 17:18.05

17 8 2246 KM LHE(2) % #n-4E 17:27.52

18 15 51093 #HAK AZ2(1) = & -4HmAk 18:31.90
10 417 #n mAa@) ® & EE DNS
12 7097 K ZE0 (1) & m- ke DNS
13 7100 B ZZEQ) = m-wmass DNS
17 2745 #FM FEF(©Q) = om-BAFRE DNS
23 2417 AF WEE Q) B w-EEHE DNS

B A AL —A ENSHE
JIEAL jun - KA P& Fofk 1Avh
1 460 SfM EANQ) = @ -mms 15:57.56
2 6871 HEF FFK % m-LARC 15:59.26
3 2810 SEMH G (1) = m-JREE 16:13.07
4 8798 T PR (3) = m-zmerms 16:19. 02
5 2394 KH FE Tom- sl 16:23. 66
6 7478 1LU¥E A (1) = messdes 16:27.16
7 2733 Mg EFEHQ) = m-BEAFE 16:30.69
8 9654 JEE  HR(2) T REE 16:32.38

JL{5l DNS:R15



2 F3000m

wHEHEA E-NE KE
FLEREAL BT K=

11H12H 00:00 #4hV=%

BAhV-2 2%
148 2%
JIERZ ORD  Jvn'— K4 P& Fofk 1Avh JIEAZ ORD _dvn' = K4 Bz Fifk Vb
1 1 7243 JNE AR (1) = %-zmsms 11:01. 39 1 2 1258 FEHE MCIN(3)  ®m sm-ac—E] 10:19.32
2 5 7402 ik RV (1) = meksmers 11:20.84 2 16 1558 T ExFH(2) = wm-zwavis 10:34.68
33 5410 #FZFM =& (D T M- BEEE 11:44. 98 307 1428 EE #i¥E(Q) = wm-mEmEs 10:41.65
4 10 1556 K7E HEIB(Q) = m-mm&ws 11:50.08 4 5 7088 {8 BEZ(2) T erEs 10044, 38
5 6 7351 HuH OFEHRQA) = w-EEHE 12:03.01 5 17 3630 [M AR (1) - JWEE 10:49. 20
6 2 7694 A X Lo1) = m-@mkEd 12:03.41 6 4 9875 N+ EA(2) & m-k#ES 10:56. 43
7 4 7671 #5K (1) £ - Bk 12:07. 41 710 7244 W) FEAEQ) = ow-swmEms 11:05.96
8 11 3507 HH EHE(2) T oM JBES 12:12.97 8 6 7100 Wk LREAK(3) = motrExrs 11:10.29
9 14 1560 AA EfE(Q) = mesmaws 12:30.03 9 15 7119 E& #5852 = m-smsd 11:10.98
10 9 8956 JKkHEF HEE(2) = w-mwmws  12:35. 41 10 19 7319 BEMD FEMK(Q)  ® - xme 11:13.78
11 7 9032 #AK EH (1) ®m -k 12:45.31 11 12 8972 #A# #VEEZ&(2) = m-mwkis  11:17.05
12 13 9871 PaE WLJWAE(3) & 0. mk#é 12:48.57 12 8 7152 & H¥ET(2) = m-mkis 11:21.27
13 18 1561 KAk =EZ (1) = m-=wweE 13:12.78 13 9 7120 AH FEQ) = m-s@EEy 11:24.87
14 12 5417 ¥ FERHE() & & - BEE 13:19.16 14 14 8942 FAEE OV (3) = m- ks 11:25. 43
8 7114 K¥ THE() = wowrikrs DNS 15 20 7447 WA ER (1) = m-wmeames 11025, 72
15 9033 @i Zov (1) & - REds DNS 16 11 7404 KH 324E(1) = m-trexss 11:57.89
16 1562 [LUE BEx (2) = m-swngE DNS 17 18 3347 FEEP U0 Q) B M- 4HEE 12:04.36
17 3669 HE Ffn() = & EEE DNS 1 7542 W) AEHEQR)  ® Fn - TFF DNS
31177 9 BEHG) B m-EEd DNS
13 8945 4 H  ZFEHR(3) = - wwskreds DNS
B A LV —R EAISHLE
JIEAL N - KA Pig Flfk 1Avh
1258 B4 W (3) e AC—ET 10:19. 32

1558 M ZRA R (2)
1428 B HiE(2)
7088 8 B (2)

1

9 - ZmRm 10134, 68
3

4

5 3630 [ AR (1)

6

7

8

e —HEE  10:41. 65
w1044, 38
e L 10:49. 20
e pEE 10:56. 43
s eEEE 11001, 39
- eeEEE 11005, 96

9875 N+ EA4i(2)
7243 JNEE AR (1)
7244 W) FEHEQ)

MM B WH O RO B

JL{5l DNS:R15



4 F5000m

CHA FEeNE ORE

RO EME  HTR M=

11A12H 12:25 # Bk

® B

JIESZ ORD _jvn' = K44 P& Eidk apvh
L1 1427 BpfF BIAR(2) o e —mwE 18:27.71
2 4 1557 TjE 2 (2) g BAEYEG 18128, 28
32 2191 KRJR BEET(1) = Mm@k 19:44.98
4 3 2074 FEfE EFT(4) = om- 19:50. 16
5 5 1559 #ft bk FHR(2) = m-smmmweim 21:16. 13




